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LUYEN THI TOAN OLYMPIC QUG TE 1

MUC e

Date: S ST LS

Tuén 1 dén tuin 12 Marks: 20

| Phép cing
{1 Quy lugt day s6
1) Cho t6i biét mdy gid rdi nhé
O Bai todn vé tuoi
. [ Khodng cich
Tudin 13 dén tudn 24
" Giai cac bai toan bing phuong phap so sinh

Solve these questions. Show your working clearly. Each question carries

4 marks.
5 by pairing the first numbar with

Find the sum of each serie
mber with the second last one and

the last one, the secand nu
50 On.

(al ‘I'+2~i-3+41-5

U] Lép danh sich
[ Bii todn vé s6 dém (1)
0 Logic Jeas
Pém (b) 2'+4+ﬁ+a+ll}+f2
Tudn 25 i Baikiém traso 1 S

Tuéin 26 dén tuan 37
| Pém tién
Bai todn vé xép hing
[ Bai todn vé sb dém (2)
[1 S6 1é va so chin
_ [ Bai toan c6 du
in 38 dén tuin 49
[ Nhin va Chia
[] Chiéu dai
[] Céc bi toan v& 1Q (1)
] Tro choi céc con 50
[ Toan IQ (2
i d 1, 2, 4, 8 [ i P

W B
Idl1-l—2+3+4+5_+t§+j’+ +

2 complete each number pattern below.
@ 1. 3.6 7.1 | T s

b} 1, 4 { j, 10, 13, ( |

) 3 6 | b A ), 15, 18; ...

an 50 fi‘,' Bai kiém tra 502 i | Ofympiad Maths Tesiner - 1

gidi (Tuan 1 dén tuin 50)
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Gidi cac cau sau. Trinh bay 16 gidi rd rang. Mdi cau duoc 4 didm,

:ml."f:Tmt&gcﬂanﬂidEysﬁmbéngcamm&nhdsﬁsaudnﬁ

"~ hai 8 béng tron chyc. Clock 1 Clock 2 Clock 3

4. Michael's cousin is 18 years old. Michael is 7 years old.
How many years older will his cousin be than Michael in

fa) 2+4+6+8+10+12+14+16+20
5 years’ time?

b) 21 +22+23+24+25+26+27+28:8%

log into two pieces. How long

c) 1+ 2 E:
() + 3+ .k 18 :B. It takes 5 minutes to saw a
log into four pieces?

does it take to saw the same

(d) 1+3+5+?+9+11+13+15+1?+I!

Tim s8 con thiéu.

Olympiad Maths Trainer - ]
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Gidi cac cAu sau. Triri'lhéyI.ti‘uigizilrflrz’mg.hl'nﬁin:,c°u_|..m.;|;.;.u"L

4

O+O+D+D+D=3T

fa) Tinh gia tri ctia OI?
{b) Tinh gia tri clia O?

25 Trong hinh duti day, mdi mdt chir cai duge lién két
~ voi nhimg chir céi khac bang mot gach ké. Hoi co bao
nhigu cach khac nhau dé co thé tao nén chir “BIRTH?

Luyén thi Olympic Todn Qe Té - 1

1 . Fill in gach blank. »
I (b)

O+0=15

* + * + *® =18
* 4 E@=11
E+E+E+Q =29
Find the values for each *, @ and @.

How many triangles are there altogether in the figure below?

: {Hlnt Use the table below 10 guide you.}

R o " T
R H l—C b:natnona Number of triangles
I g Bl
B A
N @ B A

Oiympiad Maths Trainer - 1



Given the time, draw the hour and minute hands on
each clock.

(a)

—— Npay:

()

1. Tim tdng clia mdi déy 8 sau b
: ; bang cach nhom
méi c3p bang 10.

P

8Bk 2 + 3+ 4 +5 +8 + 7 0k

P

Ih}2+3+4+5+15+16+11+“

6.00 3.00 8.00

d. His sister is 10 years old. How many

Sam is 7 years ol
in 5 years’ time?

years younger is Sam than his sister

el 1 +3+5+7 +13+15+17+19+2

5 together to make @ long
here altogether? Assume
tied together.

A seaman needs to tie 6 rope!
rope. How many knots are 1
both ends of the long rope are not

d) 12 + 14 + 16 + 24 + 26 + 28
S

s6 con thidu.

Ofympiad Maths Traine? - ]
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Ngay:

Gii céc bai todn sau. Trih béy 6 10 g, MB e h duoe 4 g

- 4§80} |
R

Hai can bao nhidu hoc sinh & hang mot chuyén xudng héng ha
hang hai ¢6 nhiéu hon hang mdt 4 hoc sinh.

rongséhaicrﬂn'éoﬂ.uéﬂ.hﬂdﬂméurﬁosébémw

j 3. A cat takes less than 3 minutes to eat a fish. If 8 cats are

" 4. Find the missing number.

. 5. Some beads are used to form the sides of a square. Each

given 8 fish at the same time, how long does it tak,
all the cats to eat the fish? e for

4"--. il ---h"\\. II
12 0y [/ 8 ‘ ? 14 | 12
\ | |
J —
3 b / e ] 6 :II 5 7
B ..»'/ \J-/

side of the square has 5 beads. How many beads are
there altogether?

Oiympiad Maths Trainer - 1 163




TEST 2

¥): 40 min

canh cia canh
d6ng 20 cho 3 canp co 4 I3 c‘:. U0CHey |, uria0 maTHS TRAINEN )

Name: ___ Date:

I" Class: - e Marks: 1100

canh déng
solve these gquestions. Show your working clearly.

H 3. Dubi day Ia hinh mot canh déng Hay va 12
. la

g 1. Find the missing number in Figure 3. [8 marks]

s ~
g . 4 (3 ) &
Y- HO soi day do o dang cb bao iy gy -0 00 068
=
g @& O
Figure 1 Figure 2 Figure 3

2. James donated half of the amount of money in his
: piggy-bank. He used half of the remaining maney to

e : 1 buy himself a book. He was then left with $20. How
- Hoi 6 thé ve duoc bao nhigu dutng thang ndi hai diédm v much was his savings at first? [8 marks]

nhau trong hinh du6i day?

Luyén thi Olympic Todn Qude Té- | m Ohympisd Maths Trainer - 1
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It} $7.50 = 15 fifty-cent coing
2.

TOawd & e
gfﬁ%ﬁgg

The sum i5 an odd number.

5. The arrangement is repeated
every four fruit.

¢4 0o
R1 R2 R3 RO
17+ 4 =4R1

The 17th fruit is §

WEEK 27

]
A

1. (al $8.20
= (16) fifty-cent and
{1ltwenty-cent coins

b} $2.70
= (27) ten-cent coins
(e} $3.60

= (18) twenty-cent coins

Id) $4.50

lel $5.60 |
= {8 fi

18] twenty-cent m
0 $6.40
= 18 fifty-cant
(24 and

2.4 41+ 5= 10
Thw&amwbﬁm

wd  0d oM w

T —
L_l

]

The sum is an odd numbe,

5. The arangement s repesied
every six shapes.

A O ONIE
R1 R2

R3 R4 A5 R

18 + 6 = 3R0
The 18th shapeisal |

-t

1. 50¢+20¢ +20¢ +10¢
50¢ + 206 + 10¢ +10¢ + 10¢
5o¢+m¢+1u¢+iu§¢10¢*13
20¢ + 204 +20¢ + 20¢+20¢
20¢ + 206 +20¢ + 20§ + 10§+ 1%
20¢ + 20¢-+ 20§+ 1064108
10¢ + 10¢

C

indy can pay for the bus fare a0¢ + 20¢

in B different ways. 50¢ + 10¢ + 10¢

2 4+1+7=12 v
There are 12 childran altogether. 5 different ways.
3. Accept other Cofect answers. | 2.
3’ Julie
l : .
{52 Y S -"\ér N
I T = ‘ OOOOe 00000
\1 There are 10 children in the queue.
4. For each class to get an odd | 3 @®
number of apples, Miss Sonia

Matthew can pay for the file in

can give the apples in one of ,3{ 2
the following ways. | - i
‘ . O—@—®

Therefore, Miss Sonia can give
the apples 1o the students in 3
different ways.

B

W
1+

s 7 apples |
3/ spoiehi| | NS ESER I"""‘“" z|a as olw
of timas
] ] | onon {on|on|att| on ot on foif
1 apphe | 9 apples |
: 4 - The light in her room is still on
5 apples | 5 apples in the end.
| i |
5. Method 1

every 5 flashcards given.
Abel ... Elsine

From the armangement, wa can < 15t SRR ‘s
sea the following pattem. ‘E{;Eth 1Oth"‘5
B W B W +5(
%+‘L¥;4'5+6+?—23 11:|h 1?:h
28t Blst .. 65,
;I;eh:cx‘tjf bez:is ki2gth 1o dtﬁﬁth 70
i aads) are ack, z
Therefore, the 32nd bead Bryan will get the 67th flashcard.
is black. Method 2
6 x 13 =65
b Absl Bryan Chares Dylan Elaine
il S e B5th
. 20¢+20¢ +20¢ + 10¢ B6th B7th
20¢ + 20¢ + 10¢ + 10¢ + 10¢ Bryan will get the 67th
20¢ +10¢+ 10¢ + 10¢ +10¢ flashcard.

Each child will get a flashcard for |



